INBUSSCHRAUBE M6 x 16
@ b x SOCKET SCREW M6 x 16 %

SECHSKANTMUTTER M6 E}
b x HEXAGONAL NUTS M6

© 1 x KABERDURCHFUHRUNGSTULLE }
CABLE GROMET

LINSENSCHRAUBE M6 x 16
@ 8 x FILLISTER HEAD SCREW M6 x 16E

@ L x LINSENSCHRAUBE M4 x...(VOM MONITOR)

FILLISTER HEAD SCREW M. x ... (FROM
MONITOR)

g
g
4
P
© -\
@ N

MONTAGEANLEITUNG

ASSEMBLY INSTRUCTION
MT A02-7



